
ДС для модельного языка

Н

gc();
'_'

IDENT

add(); gc();

буква, 
цифра

буква
clear (); add(); gc();

цифра
d = c – '0'; gc();

NUMB

d = d*10 + (c – '0'); gc();

COM

gc();

{
gc();

}
gc();

j = look (buf, TW); Lex(words[i], j);
или
j = TID.put(buf); Lex(LEX_ID, j);

Lex (LEX_NUM, d);

ER

ALEclear (); add(); gc();
:,  <,  >

j = look(buf,TD); Lex(dlms[j], j);

add(); gc(); j = look(buf,TD); Lex(dlms[j], j);
=

Т

Lex (LEX_FIN);

Т

!
NEQ

ER

Т

gc (); Lex(LEX_NEQ);

DELIM

ER

+, – , *, /, ;, «,», (, ), =

clear(); add(); gc(); 
j = look(buf, TD); Lex(dlms[j], j);

В ДС везде Lex(i, j); означает return Lex(i, j);

буква, 
цифра


